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(请在答题纸上作答，写在试卷上无效)
 
Part I Vocabulary and Structure（10 points, 0.5 point each） 

Directions：There are 20 incomplete sentences in this part．For each sentence there are four choices marked A），B），C）and D）．Choose the ONE answer that best completes the sentence．Then mark the corresponding letter on the Answer Sheet with a single line through the centre．
1. Deeply _____________by the story, the dying patient decided to face up to and struggle against the disease.
A) urged
B) informed
C) anticipated
D) inspired
2. The mother couldn’t _____________ her anger when she found her son had made the same silly mistake again and again.
A) hold up
B) hold back
C) hold on
D) hold off
3. The chief proof of a man’s real greatness _____________ his perception of his own smallness. 
A) lie in
B) fit into
C) call on
D) work out
4. There has been a _____________ increase in the number of the unemployed in recent years.
A) brief 
B) steady
C) stable
D) precise
5. The number you dialed is not _____________now, please dial it later.
A) accurate
B) available
C) associated
D) contacted
6. The school has _____________ some great scholars.
A) turned up
B) turned out
C) turned in
D) turned away
7. Children born in autumn tend to be most developed in their school year, so they are more _____________ to do better in sport.
A) possible
B) appeal
C) likely
D) object
8. As the saying goes, no pains, no gains, working hard is _____________necessary if one wants to be successful.
A) absolutely
B) practically
C) likely
D) highly
9. After three years of searching for their child, they finally_____________ all hope of finding him.
A) abandoned
B) assumed
C) approached
D) removed
10. Mr. Wang was so _____________with his employees that even the most loyal one can’t stand.
A) severe
B) serious
C) hard
D) concerned
11. Lucy’s speech is amazing. Do you think it was _____________by herself or by someone else?
A) distributed
B) conveyed
C) inquired
D) composed
12. Many people are still unwilling to buy on credit. The idea of spending money before one earns it _____________among the Chinese.
A) has not yet taken hold
B) has not yet put across
C) has passed away
D) has not yet fitted into
13. Albert Einstein’s equation E=mc2 is the _____________of atomic energy.
A) base
B) bases
C) basis
D) basic
14. It was a bad year for films, _____________both quantity and quality.
A) in the form of
B) in terms of 
C) on the basis of 
D) sort of 
15. The new president must _____________ a change in the health care system.
A) bring about
B) bring around
C) bring back
D) bring up
16. Let’s _____________making a decision until we have more information.
A) anticipate
B) avoid
C) ensure 
D) postpone
17. This factory has a productive _____________of 200 cars a week.
A) route
B) rate
C) capacity
D) sequence
18. Rising prices may _____________ the rise in demand for these goods.
A) reflect
B) sustain
C) grip
D) inform
19. If you want to _____________ you must learn to work hard while you are still young.
A) make its way
B) make your way
C) go your way
D) go on your way
20. Johnson looks _____________ worried about losing his job.
A) as if he is
B) like he is
C) as if he was
D) like he was
 
Part II  Reading Comprehension（40 points, 2 points each） 

Directions：There are four passages in this part. Each passage is followed by some questions or unfinished statements．For each of them there are four choices marked A），B），C）and D）．You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre． 

Passage One 

Questions 21 to 25 are based on the following passage： 

    Most young people enjoy some form of physical activity. It may be walking, cycling or swimming, or in winter, skating or skiing，it may be a game of some kind football, hockey（曲棍球）, golf, or tennis, it may be mountaineering.
Those who have a passion for climbing high and difficult mountains are often looked upon with astonishment. Why are men and women willing to suffer cold and hardship, and to take risks on high mountains? This astonishment is caused probably by the difference between mountaineering and other　forms of activity to which men give their leisure.
Mountaineering is a sport and not a game. There are no man-made rules, as there are for such games as golf and football. There are, of course, rules of a different kind which it would be dangerous to ignore, but it is this freedom from man-made rules that makes mountaineering attractive to many people. Those who climb mountains are free to use their own methods. If we compare mountaineering and other more familiar sports, we might think that one big difference is that mountaineering is not a “team game”. We should be mistaken in this. There are, it is true, no “matches between teams” of climbers, but when climbers are on a rock face linked by a rope on which their lives may depend, there is obviously teamwork.
　　The mountain climber knows that he may have to fight forces that are stronger and more powerful than man. He has to fight the forces of nature. His sport requires high mental and physical qualities.
　　A mountain climber continues to improve in skill year after year. A skier is probably past his best by the age of thirty, and most international tennis champions are in their early twenties. But it is not unusual for a man of fifty or sixty to climb the highest mountains in the Alps. They may take more time than younger men, but they probably climb with more skill and less waste of effort, and they certainly experience equal enjoyment.
 
21. Mountaineering is a sport which involves_________________.
A) hardship
B) physical risk
C) cold    D) all of the above
22. The main difference between a sport and a game lies in_________________.
A) uniform
B) rules
C) activity
D) skills
23. Mountaineering is also a team sport because________________.
A) it involves rules
 B) it involves matches between teams
C) it requires mental and physical qualities
D) mountaineers depend on each other while climbing
24. Which of the following is NOT true?
A) Mountaineers compete against each other.
 B) Mountaineers compete against other teams.
C) Mountaineers compete against nature.
D) Mountaineers compete against international standard.
25. What is the best title for the passage?
A) Mountaineering
 B) Mountain Climbers
C) Mountaineering is Different from Golf and Football
D) Mountaineering Is More Dangerous Than Other Sports
 
Passage Two 
 

Questions 26 to 30 are based on the following passage： 

    Where do pesticides（杀虫剂）fit into the picture of environmental disease? We have seen that they now pollute soil, water, and food, that they have the power to make our streams fishless and our gardens and woodlands silent and birdless. Man, however much he may like to pretend the contrary, is part of nature. Can he escape a pollution that is now so thoroughly distributed throughout our world?


We know that even single exposures to these chemicals, if the amount is large enough, can cause extremely severe poisoning. But this is not the major problem. The sudden illness or death of farmers, farm workers, and others exposed to sufficient quantities of pesticides are very sad and should not occur. For the population as a whole, we must be more concerned with the delayed effects of absorbing small amounts of the pesticides that invisibly pollute our world.


Responsible public health officials have pointed out that the biological effects of chemicals are cumulative（积累的）over long periods of time, and that the danger to the individual may depend on the sum of the exposures received throughout his lifetime. For these very reasons the danger is easily ignored. It is human nature to shake off what may seem to us a threat of future disaster. “Men are naturally most impressed by diseases which have obvious signs,” says a wise physician, Dr. Rene Dubos, “yet some of their worst enemies slowly approach them unnoticed.”

 

26.
Which of the following is closest in meaning to the sentence “Man, …is part of nature.” (Lines 2-3, Para.1)?


A) Man appears indifferent to what happens in nature.


B) Man acts as if he does not belong to nature.


C) Man can avoid the effects of environmental pollution.


D) Man can escape his responsibilities for environmental protection.

27.
What is the author’s attitude towards the environmental effects of pesticides?


A) Pessimistic.


B) Indifferent.


C) Defensive.


D) Concerned.

28.
In the author’s view, the sudden death caused by exposure to large amounts of pesticides ______.

A) is not the worst of the negative consequences resulting from the use of pesticides

B) now occurs most frequently among all accidental deaths


C) has sharply increased so as to become the center of public attention


D) is unavoidable because people can’t do without pesticides in farming

29.
People tend to ignore the delayed effects of exposure to chemicals because ______.


A) limited exposure to them does little harm to people’s health


B) the present is more important for them than the future


C) the danger does not become apparent immediately


D) humans are capable of withstanding small amounts of poisoning

30.
It can be concluded from Dr. Dubos’ remarks that ______.


A) people find invisible diseases difficult to deal with


B) attacks by hidden enemies tend to be fatal


C) diseases with obvious signs are easy to cure


D) people tend to overlook hidden dangers caused by pesticides

 

Passage Three 

Questions 31 to 35 are based on the following passage： 



Taste is such a subjective matter that we don’t usually conduct preference tests for food. The most you can say about anyone’s preference is that it’s one person’s opinion. But because the two big cola（可口可乐）companies -- Coca-Cola and Pepsi Cola are marketed so aggressively, we’ve wondered how big a role taste preference actually plays in brand loyalty. We set up a taste test that challenged people who identified themselves as either Coca-Cola or Pepsi fans: Find your brand in a blind tasting.


We invited staff volunteers who had a strong liking for either Coca-Cola Classic（传统型）or Pepsi, Diet（低糖的）Coke, or Diet Pepsi. These were people who thought they’d have no trouble telling their brand from the other brand.


We eventually located 19 regular cola drinkers and 27 diet cola drinkers. Then we fed them four unidentified samples of cola one at a time, regular colas for the one group, diet versions for the other. We asked them to tell us whether each sample was Coke or Pepsi; then we analyzed the records statistically to compare the participants’ choices with what mere guess-work could have accomplished.


Getting all four samples right was a tough test, but not too tough, we thought, for people who believed they could recognize their brand. In the end, only 7 out of 19 regular cola drinkers correctly identified their brand of choice in all four trials. The diet-cola drinkers did a little worse -- only 7 of 27 identified all four samples correctly.


While both groups did better than chance would predict, nearly half the participants in each group made the wrong choice two or more times. Two people go all four samples wrong. Overall, half the participants did about as well on the last round of tasting as on the first, so fatigue, or taste burnout, was not a factor. Our preference test results suggest that only a few Pepsi participants and Coke fans may really be able to tell their favorite brand by taste and price.

 

31.
According to the passage the preference test was conducted in order to _______.


A) find out the role taste preference plays in a person’s drinking


B) reveal which cola is more to the liking of the drinkers


C) show that a person’s opinion about taste is mere guess-work


D) compare the ability of the participants in choosing their drinks

32.
The statistics recorded in the preference tests show ______.


A) Coca-Cola and Pepsi are people’s two most favorite drinks


B) there is not much difference in taste between Coca-Cola and Pepsi


C) few people had trouble telling Coca-Cola from Pepsi


D) people’s tastes differ from one another

33.
It is implied in the first paragraph that _______.


A) the purpose of taste tests is to promote the sale of colas


B) the improvement of quality is the chief concern of the two cola companies


C) the competition between the two colas is very strong


D) blind tasting is necessary for identifying fans

34.
The word “burnout” (Line 4, Para.5) here refers to the state of ______.


A) being seriously burnt in the skin


B) being unable to burn for lack of fuel


C) being badly damaged by fire


D) being unable to function because of excessive use

35.
The author’s purpose in writing this passage is to ______.


A) show that taste preference is highly subjective


B) argue that taste testing is an important marketing strategy


C) emphasize that taste and price are closely related to each other


D) recommend that blind tasting be introduced in the quality control of colas

Passage Four 

Questions 36 to 40 are based on the following passage： 

    The motor vehicle has killed and disabled more people in its brief history than any bomb or weapon ever invented. Much of the blood on the street flows essentially from uncivil behavior of drivers who refuse to respect the legal and moral rights of others. So the massacre on the road may be regarded as a social problem.
In fact, the enemies of society on wheels are rather harmless people just ordinary people acting carelessly, you might say. But it is a principle both of law and common morality that carelessness is no excuse when one's actions could bring death or damage to others. A minority of the killers go even beyond carelessness to total negligence.
Researchers have estimated that as many as 80 per cent of all automobile accidents can be attributed to the psychological condition of the driver. Emotional upsets can distort drivers' reactions, slow their judgments, and blind them to dangers that might otherwise be evident. The experts warn that it is vital for every driver to make a conscious effort to keep one's emotions under control.
Yet the irresponsibility that accounts for much of the problem is not confined to drivers. Street walkers regularly violate traffic regulations, they are at fault in most vehicle walker accidents; and many cyclists even believe that they are not subject to the basic rules of the road.
Significant legal advances have been made towards safer driving in the past few years. Safety standards for vehicle have been raised both at the point of manufacture and through periodic road-worthiness inspections. In addition, speed limits have been lowered. Due to these measures, the accident rate has decreased. But the accident experts still worry because there has been little or no improvement in the way drivers behave. The only real and lasting solution, say the experts, is to convince people that driving is a skilled task requiring constant care and concentration. Those who fail to do all these things present a threat to those with whom they share the road.
 
36. What is the author's main purpose in writing the passage?
A) To show that the motor vehicle is a very dangerous invention.
 B) To promote understanding between careless drivers and street walkers.
C) To discuss traffic problems and propose possible solutions.
D) To warn drivers of the importance of safe driving.
37. According to the passage, traffic accidents may be regarded as a social problem because_________________.
A) autos have become most destructive to mankind
 B) people usually pay little attention to law and morality
C) civilization brings much harm to people
D) the lack of virtue is becoming more severe
38. Why does the author mention the psychological condition of the driver in Paragraph Three?
A) To give an example of the various reasons for road accidents.
 B) To show how important it is for drivers to be emotionally healthy.
C) To show some of the inaccurate estimations by researchers.
D) To illustrate the hidden tensions in the course of driving.
39. Who are NOT mentioned as being responsible for the road accidents?
A) Careless bicycle-riders
 B) Mindless people walking in the street
C) Irresponsible drivers
D) Irresponsible manufactures of automobiles
40. Which of the following best reflects the author's attitude toward a future without traffic accident problems?
A) Doubtful yet still longing for
 B) Happy and rather confident
C) Surprised and very pleased
D) Disappointed and deeply worried
 


Part III  Cloze（10 points, 0.5 point each） 

Directions：There are 20 blanks in the following passage．For each blank there are four choices marked A），B），C）and D）．You should choose the ONE that best fits into the passage．Then mark the corresponding letter on the Answer Sheet with a single line through the centre． 

    Most children with healthy appetites are ready to eat almost anything that is offered them and a child rarely dislikes food ___41___ it is badly cooked. The __42___ a meal is cooked and served is most important and an ___43___ served meal will often improve a child’s appetite. Never ask a child ___44___ he likes or dislikes a food and never ___45___ likes and dislikes in front of him or allow ___46___ else to do so. 

If the father says he hates fat meat or the mother ___47___ vegetables in the child’s hearing he is ___48___ to copy this procedure. Take it ___49___ granted that he likes everything and he probably ___50___. Nothing healthful should be omitted from the meal because of a ___51___ dislike. 

At meal times it is a good __52___ to give a child a small portion and let him ___53___ back for a second helping rather than give him as ___54___ as he is likely to eat all at once. Do not talk too much to the child ___55___ meal times, but let him get on with his food; and do not ___56___ him to leave the table immediately after a meal or he will ___57___ learn to swallow his food ___58___ he can hurry back to his toys. Under ___59___ circumstances must a child be coaxed (哄骗) ___60___ forced to eat.

 

41. A) if
B) until
C) that
D) unless

42. A) procedure
B) process
C) way
D) method

43. A) adequately
B) attractively
C) urgently
D) eagerly

44. A) whether
B) what
C) that
D) which

45. A) remark
B) tell
C) discuss
D) argue

46. A) everybody
B) anybody
C) somebody
D) nobody

47. A) opposes
B) denies
C) refuses
D) offends

48. A) willing
B) possible
C) obliged
D) likely

49. A) with
B) as
C) over
D) for

50. A) should
B) may
C) will
D) must

51. A) supposed
B) proved
C) considered
D) related

52. A) point
B) custom
C) idea
D) plan

53. A) ask
B) come
C) return
D) take

54. A) much
B) little
C) few
D) many

55. A) on
B) over
C) by
D) during

56. A) agree
B) allow
C) force
D) persuade

57. A) hurriedly
B) soon
C) fast
D) slowly

58. A) so
B) until
C) lest
D) although

59. A) some
B) any
C) such
D) no

60. A) or
B) nor
C) but
D) neither

 

Part IV   Translation（10 points, 2 points each）
Directions: Complete the sentences on Answer Sheet by translating into English the Chinese given in brackets.
61. Nuclear science should be developed 
（有益于人民而不是伤害他们）.
62. Only after you have received the telephone 


（你才知道他到达的时间）.
63. I would be pleased to supply any additional information you may need and to come to your 

office for a personal interview                             （如果您方便的话）.
64. Some economists are more likely to                            （把这个国家不平等的工资上涨归咎于）the shift in favor of the most skilled workers.                           
65. It is true to say that the more we learn about other people,                           

（我们就越能更好地理解他们的观点）and as a rule, the better we like those people themselves. 
 

Part V   Error Correction (10 points, 1 point each)
 
Directions: This part consists of a short passage. In this passage, there are altogether 10 mistakes, one in each numbered line. You may have to change a word, add a word or delete a word. Mark out the mistakes and put the corrections in the blanks provided. If you change a word, cross it out and write the correct word in the corresponding blank. If you add a word, put an insertion mark (∧) in the right place and write the missing word in the blank. If you delete a word, cross it out and put a slash ( / ) in the bland.
Example: 
Television is rapidly becoming the literature of our periods.
       1.  period   
Many of the arguments having used for the study of literature
       2. _________
as a  school subject are valid for∧study of television.    
           3.   the    
At first Ben hated reading. Then, gradually, he discovered a 

new world of possible. Before long he was reading more books            66._________

than his determined mother requires, and he couldn’t wait to share          67.________

them with her.

His mother studied the book reports closely. “That’s a fine job,        

Bennie,” she would tell her beaming son. Which she didn’t tell Ben or       68________

Curtis was that, with only a third-grade education, she couldn’t read.       

“Mom,” Ben announced one day, “when I grow up, I want to be        

a doctor.”

Sonya Carson smiled, know Ben must have just read a book            69.________

on doctors. “You can be something you want to be,” she assured him.     

With a goal now, young Ben soared from the bottom of his class     

toward the top. His teachers were astonishing. There was one thing,         70.________

however, that Ben couldn’t seem to conquer it: his violent temper. He        71.________

boiled with anger --- anger at his departed father, anger at the hardships 

his mother faced, anger at all the wasted life he saw around him.            72.________

Then one afternoon, walking home from school, 14-years-old           73.________

Ben started arguing with a friend. Pulling a camping knife, Ben          

thrusted at the boy. The steel blade struck the youngster’s metal belt         74._________

buckle, and the blade snapped. Ben’s friend fleed.                       75._______

 

Part V  Guided Writing (20 points)
Directions: In this part, you are to write a composition of at least 150 words on the topic: Whether the Seven-day May Day Holiday Should Be Resumed?.
 

 

 

Part VI  Put the following into English (20 points) ( For English majors only. 英语专业的考生必考，非英语专业的考生不考)
虽然不是每一个在美国生活的人都在为反对污染而进行斗争，但是我们完全可以说，几乎人人都认识到了污染对美国土地、空气和水的质量已造成的影响。
在国家这一级，为解决污染问题正在做许多工作。联邦和州政府每年都通过新的法律，用于保护美国的森林、河流和湖泊，或是防止制造厂商进一步破坏环境。
环境保护总署，习惯上简称为EPA，是确保这些法律得到实施的政府机构。EPA制定出严格的条例，美国的制造厂商必须遵守。不然的话，他们就要受到毫不留情的罚款。
以工厂为例，它们再不能把化学物质倾倒入河流和小溪，也不准许释放有毒的烟尘污染空气。
在这儿我不打算多介绍工厂和政府的情况，我只想谈谈美国公民个人在环境保护方面能做些什么，能有那些即使是微不足道的贡献。
